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AP60
g -2 K 4 1 2 3 4 5 6 = X
1 Bl B%& 95 90 93 97 93 93 561 13
AR60
[-}ivd K 4 1 2 3 4 5 6 =5 X
1 MR —F 964 | 952 | 94.1 99.7 | 959 | 957 | 5770 12
2 FE IEER 92.1 933 | 95.1 924 | 954 | 944 | 562.7 6
FR60PR / R60PR
I £z K £ 1 2 3 4 5 6 =5 X
1 ARHE 1%ER 99.2 | 1005 | 101.3 | 103.0 | 985 | 1028 | 6053 25
2 HLEE EF 991 | 101.1 | 1015 | 100.7 | 100.7 | 101.9 | 605.0 19
3 EA&N E— | 1015 | 992 994 | 1029 | 1006 | 100.2 | 603.8 21
4 a5 T 955 | 954 | 89.0 | 949 | 952 | 96.2 566.2 7
5 g B 868 | 883 | 839 | 793 | 866 | 870 | 5119 9
Ef X 0.0 DNF




